
CCoouupplliinnggss,,  IInnsseerrttss

11

CCoouupplliinngg
MMooddeell  NNoo..

SSttdd..
MMaaxx  BBoorree

100 1 1/8
200 1 3/8
300 1 5/8
400 1 7/8
500 2 3/8
600 2 5/8
700 2 7/8
800 3 7/8
900 4 3/4

BBaassiicc
IInnsseerrtt

PPaarrtt  NNoo..

NNeeoopprreennee UUrreetthhaannee VViittoonn HHyyttrreell BBuunnaa  NN EEPPDDMMCC
ooddee

CC
ooddee

CC
ooddee

CC
ooddee

CC
ooddee

CC
ooddee

M170 N6 U9 V8 H5 B8 E8
M270 N6 U9 V8 H5 B8 E8
M370 N6 U9 V8 H5 B8 E8
M470 N7 U9 V8 H5 B8 E8
M570 N7 U9 V8 H5 B8 E8
M670 N7 U9 V8 H5 B8 E8
M770 N8 U9 V8 H5 B8 E8
M870 N8 U9 V8 H5 B8 E8
M970 N8 U9 V8 H5 B8 E8

PPAARRTT  NNUUMMBBEERR  UUSSAAGGEE::
Magnaloy Coupling INSERT part
numbers may be specified using the
following format:
Start with the Basic Insert Part
Number followed by the 2 digit
material code.  iiee..      MM117700UU99

MMaaggnnaallooyy  ““SSttaannddaarrdd””  BBoorree  &&  KKeeyywwaayy  CCoommbbiinnaattiioonnss
Mode  Bore/Key
Code    Code

Model

10
0

20
0

30
0

40
0

50
0

60
0

70
0

80
0

Bore    Key
M _ _ _ 01203 3/8 x 3/32 o o
M _ _ _ 01403 7/16 x 3/32 o o
M _ _ _ 01404 7/16 x 1/8 o o
M _ _ _ 01604 1/2 x 1/8 o o o
M _ _ _ 01804 9/16 x 1/8 o o o
M _ _ _ 02005 5/8 x 5/32 o o o
M _ _ _ 02006 5/8 x 3/16 o o o o
M _ _ _ 02206 11/16 x 3/16 o o o o
M _ _ _ 02404 3/4 x 1/8 o o o
M _ _ _ 02406 3/4 x 3/16 o o o o o o
M _ _ _ 02806 7/8 x 3/16 o o o o o o
M _ _ _ 02808 7/8 x 1/4 o o o o o o
M _ _ _ 03008 15/16 x 1/4 o o o
M _ _ _ 10006 1 x 3/16 o o o o o o
M _ _ _ 10008 1 x 1/4 o o o o o o
M _ _ _ 10408 1 1/8 x 1/4 o o o o o o
M _ _ _ 10608 1 3/16 x 1/4 o o
M _ _ _ 10808 1 1/4 x 1/4 o o o o o
M _ _ _ 10810 1 1/4 x 5/16 o o o o o o o
M _ _ _ 11210 1 3/8 x 5/16 o o o o o o o
M _ _ _ 11212 1 3/8 x 3/8 o
M _ _ _ 11412 1 7/16 x 3/8 o o o
M _ _ _ 11610 1 1/2 x 5/16 o o o o
M _ _ _ 11612 1 1/2 x 3/8 o o o o o o
M _ _ _ 12012 1 5/8 x 3/8 o o o o o o
M _ _ _ 12412 1 3/4 x 3/8 o o o o o

MMaaggnnaallooyy  ““SSttaannddaarrdd””  BBoorree  &&  KKeeyywwaayy  CCoommbbiinnaattiioonnss
Mode  Bore/Key
Code    Code

Model

20
0

30
0

40
0

50
0

60
0

70
0

80
0

90
0

Bore    Key
M _ _ _ 12414 1 3/4 x 7/16 o o o o o
M _ _ _ 12816 1 7/8 x 1/2 o o o o o o
M _ _ _ 13016 1 15/16 x 1/2 o o
M _ _ _ 20016 2 x 1/2 o o o o o
M _ _ _ 20416 2 1/8 x 1/2 o o o o o
M _ _ _ 20816 2 1/4 x 1/2 o o o o o
M _ _ _ 21220 2 3/8 x 5/8 o o o o o
M _ _ _ 21620 2 1/2 x 5/8 o o o o
M _ _ _ 22020 2 5/8 x 5/8 o o o o
M _ _ _ 22420 2 3/4 x 5/8 o o o
M _ _ _ 22824 2 7/8 x 3/4 o o o
M _ _ _ 30024 3 x 3/4 o o
M _ _ _ 30824 3 1/4 x 3/4 o o
M _ _ _ 31228 3 3/8 x 7/8 o o
M _ _ _ 31628 3 1/2 x 7/8 o o
M _ _ _ 32028 3 5/8 x 7/8 o o
M _ _ _ 32428 3 3/4 x 7/8 o o
M _ _ _ 32832 3 7/8 x 1 o o
M _ _ _ 40032 4 x 1 o
M _ _ _ 40432 4 1/8 x 1 o
M _ _ _ 40832 4 1/4x 1 o
M _ _ _ 41232 4 3/8 x 1 o
M _ _ _ 41632 4 1/2 x 1 o
M _ _ _ 41640 4 1/2 x 1 1/4 o
M _ _ _ 42040 4 5/8 x 1 1/4 o
M _ _ _ 42440 4 3/4 x 1 1/4 o

PPAARRTT  NNUUMMBBEERR  UUSSAAGGEE:: Magnaloy Coupling HUB part numbers may be specified using the following format:
Start with letter “M” designating Magnaloy, followed by 3 digit Model Code (100, 200, 300, etc), the the specific 5 digit Bore Key Code. 

Shaded Area - Semi Standard
No Additional Cost



IInnddeexx

22

SSpplliinneedd  BBoorree,,  SStteeeell  BBuusshhiinnggss  &&  CCllaammppss

SSpplliinneedd  BBoorreess,,  SStteeeell  BBuusshhiinngg  aanndd  CCllaammppss

22

CCoouupplliinngg
MMooddeell  NNoo..

110000

220000

330000

440000

550000

660000

770000

880000

990000

SSppeecciiaall  BBoorreess  &&  DDoouubbllee  SSeett  SSccrreewwss

SSPPEECCIIAALL  SSEERRVVIICCEESS for special machining services,
ie.: taper bores, snap ring grooves, facing, special
sized keyways, and couplings altered by factory per
customer specifications, consult factory.
Factory will also consider bores greater than
the standard maximum for limited applications.
Consult factory for required information.

**  SSppeecciiaall  aanndd  MMeettrriicc charges for Special Bores,
Non-Standard Bore and Keyway Combinations,
Standard Metric Bore & Keyways, and Bores
without keyways.

SSttoocckk  MMooddeell  SSiizzeess
SSttaannddaarrdd  CCoouupplliinngg GGrroouupp  AA GGrroouupp  BB GGrroouupp  CC

SSpplliinneedd
BBoorree

SSpplliinneedd
BBoorree

ww//CCllaammpp
SStteeeell

BBuusshheedd

SStteeeell
BBuusshheedd

ww//CCllaammpp
SStteeeell

BBuusshheedd

SStteeeell
BBuusshheedd

ww//CCllaammpp
SStteeeell

BBuusshheedd

SStteeeell
BBuusshheedd

ww//CCllaammpp

NNoottee::  FFoorr  NNoonn--SSttoocckk  SSiizzee  SSpplliinneess  aadddd  ttoo  SSppeecciiaall  BBoorree  PPrriiccee::    $$112255..3355SSpplliinneedd  BBoorreess::
The following IN-Plant broaches are all 300 A.P.,
Flat Root, Side Fit.  For other splines, consult factory.

CCoouuppllnngg
MMooddeell
SSiizzee
110000
220000
330000
440000
550000
660000
770000
880000
990000

NNuummbbeerr
ooff  TTeeeetthh PPiittcchh

PPrreessssuurree
AAnnggllee

((DDeeggrreeeess))
SSAAEE

DDeessiiggnnaattiioonn

MMaajjoorr
DDiiaammeetteerr
((IInncchheess))

9 16/32 30 A .625
13 8/16 30 D, E 1.750
13 16/32 30 B .875
14 12/24 30 C 1.250
15 16/32 30 BB 1.000
15 8/16 30 F 2.000
17 12/24 30 CC 1.500
21 16/32 30 1.375
23 16/32 30 1.500
27 16/32 30 1.750
40 16/32 30 2.562

SSttaannddaarrdd  CCoouupplliinngg SStteeeell  BBuusshheedd  CCoouupplliinngg
AAvvaaiillaabbllee

MMooddeell
SSiizzeess

SSttoocckk
MMooddeell
SSiizzeess11

AAvvaaiillaabbllee
MMooddeell
SSiizzeess

SSttoocckk
MMooddeell
SSiizzeess11

SSiizzee
GGrroouupp

100-900 100-400 200-900 200-400 A
400-900 400-700 600-900 600-800 B
100-900 100-500 300-900 300-500 A
200-900 200-700 500-900 500-700 B
100-900 300-500 400-900 400-600 A
500-900 500-700 800-900 800 C
300-900 500-700 500-900 500-800 B
300-900 300-600 500-900 500, 600 B
300-900 500-600 500-900 500-700 B
400-900 500-700 600-900 600, 800 B
600-900 NONE 800-900 NONE C

11 AAbboovvee  pprriicceess  aarree  ffoorr  sspplliinneedd  bboorreess  iinn  SSTTOOCCKK  MMOODDEELL  SSIIZZEESS  oonnllyy  --  ffoorr  ootthheerr  mmooddeell  ssiizzeess,,  ccoonnssuulltt  ffooaaccttoorryy..



PPMM  9900  CCoouupplliinngg

33

SSttaannddaarrdd  BBoorree//KKeeyy
SSeemmii--SSttaannddaarrdd  BBoorree//KKeeyy**

**  Semi-Standard Bore/Key combinations are shown as shaded in the chart
below.  For quantities greater than 50 pieces, consult factory.
All other Bore/Key combinations, consult factory for price and availability.

IInnsseerrtt
PPaarrtt  NNoo..

IInnsseerrtt
MMaatteerriiaall

LLii tt

PP009977NN77 Nitrile
PP009977UU99 Urethane
PP009977HH55 Hytrel

SSttaannddaarrdd  BBoorree//KKeeyywwaayy  CCoommbbiinnaattiioonnss
aavvaaiillaabbllee  wwiitthh  PPMM  9900  MMooddeell  CCoouupplliinngg

PPaarrtt
NNuummbbeerr BBoorree

NNuummbbeerr  ooff
SSeett  SSccrreewwss  **

SSeett  SSccrreeww
SSiizzee

PP009900001144NN 7/16 - No Keyway Single Set Screw 1/4 - 20 UNC
PP0099000011440033 7/16 x 3/32 Single Set Screw 1/4 - 20 UNC
PP0099000011440044 7/16 x 1/8 Single Set Screw 1/4 - 20 UNC
PP0099000011660044 1/2 x 1/8 Double Set Screw 1/4 - 20 UNC
PP0099000011880044 9/16 x 1/8 Double Set Screw 1/4 - 20 UNC
PP0099000022000055 5/8 x 5/32 Double Set Screw 1/4 - 20 UNC
PP0099000022000066 5/8 x 3/16 Double Set Screw 1/4 - 20 UNC
PP0099000022220066 11/16 x 3/16 Double Set Screw 1/4 - 20 UNC
PP0099000022440044 3/4 x 1/8 Double Set Screw 1/4 - 20 UNC
PP0099000022440066 3/4 x 3/16 Double Set Screw 1/4 - 20 UNC
PP0099000022880066 7/8 x 3/16 Double Set Screw 1/4 - 20 UNC
PP0099000022880088 7/8 x 1/4 Double Set Screw 1/4 - 20 UNC
PP0099001100000066 1 x 3/16 Double Set Screw 1/4 - 20 UNC
PP0099001100000088 1 x 1/4 Double Set Screw 1/4 - 20 UNC
PP0099001100440088 1 1/8 x 1/4 Double Set Screw 1/4 - 20 UNC

Shaded items above are Semi-Standard for PM90 Couplings

* Double set screws are located over the keyway and 450 from the keyway on all bores 1/2 inch and over.
Under 1/2 inch a single set screw is located between drive lugs, over keyway.

Other Bore/Keyway combinations available - consult factory for price and availablity.

OORRDDEERRIINNGG  IINNFFOORRMMAATTIIOONN::
When ordering Type PM Couplings, order by Hub and Insert (ie. 2 hubs and 1 insert equal a complete coupling).
Specify quantity and part number or type, model size, and bore & keyway for each hub,
and quantity and part number or type, model size and material for each insert.

IE. 35 P09002006 or PM 90 Hub 5/8 x 3/16
35 P09010408 or PM 90 Hub 1 1/8 x 1/4
35 P097N7 or PM 97 Insert - Nitrile 70 Durometer




